SWAP exercises

A well-known company with a top credit rating will pay LIBOR plus a margin if it borrows money from a bank. It would like cheaper financing.

The bank borrows on a low fixed rates, and enters a swap so that it pays a floating rate and receives a fixed rate.Therefore it can achieve sub-LIBOR borrowing.
A money market investor has made a deposit that is due to mature but is concerned that interest rates are falling and the returns on re-investing the cash will be poor.

The investor enters into an IRS paying the dealer a floating rate and receiving fixed. This has the effect of locking the investor into a fixed rate of return on his investment for the lifetime of the swap.
An investor owns a fixed coupon bond but believes that interest rates are likely to rise and hence the value of bond will fall. He could sell the bond but feels that the problem is short term and wishes to retain the bond in his portfolio

The investor arranges an IRS paying a fixed rate and receiving a floating rate. If rates rise, he will receive a stream of positive cash flows.
A money market investor will earn sub-LIBOR return by depositing funds with a bank. LIBOR is the bank’s lending rate; it will pay out less on income deposits. The investor would like a higher return

The investor buys a fixed coupon bond and enters a swap paying fixed and receiving LIBOR. If the fixed rate on the swap is less than the return on the bond, then the packagge produce a net return higher than the LIBOR.
A mortgage-lending bank funds itself on a floating-rate basis but wishes to create fixed-rate loans. If it does so it runs the risk that interest rates will rise and it will pay more in funding than it receives in interest on the mortgage loans

The bank enters in a swap paying a fixed rate.and receiving a variable rate, which it can use to service its borrowing requirements.
Exercise 1
Two banks can borrow from the corporate sector on the following terms :





Bank A

Bank B

Fixed-rate loans

8%


7.5%

Floating-rate loans

LIBOR+1%
            LIBOR+0.25%

i. Design a suitable interest rate swap between the two banks. 

ii. What is the maximum size of the swap that can be made between the two banks?
